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F—LES A YJ—2 53 % = Hi E B FEE |5 TR EIEEZEIRIETES BaE
1 =58 PEGASUSU¢J 1 313|3[9]0f[1]0[1]6[8]1[15]/6|9]|1][16]4] 4] 4]12 0.083 1.333
2 HER #BESISTERS Jr. 4 0[0]0]0|8)9]|8]|25(-8(-8[-5[-21|]0|1]|3|4]|4]|4]| 4|12 2.083 0.333
3 BHIR Genki club 2 313|]0|6]O0|(1]1|[2]8[4]-1[11]8[5]0[13]4]4]|5]13 0.154 1.000
4 EER JLEFELRYIR—ILER 3 0/0]3|3]|6|5]|3|[14]-6[-4]5|-5/0[1]8[9]|5]|4]|4]13 1.077 0.692

F—LES B V—V NI % = Hi E B P E /e RIS IRIETES BRE
5 EER S5H— R oaZ7F 2 0[3|3|6]1|[6]0[7]|-1[3]3[5]0[9]3[12]5]|3]|4]12 0.583 1.000
6 KR AT RIEHD21=7H—ILX 4 0[0]O0|O]|7|9]4|20]|-1[-3|-4|-8]6|6]|0[12]3]|4]|5]|12 1.667 1.000
7 =58 B L FVIRR—IL 3 3110|0362 311 1[-1]-3[-3]7[1]0[8]3|5]|5]13 0.846 0.615
8 fE L2 BEEINT 1 313|390 t1]oOof1]|1|[1]4|6]|1|2]4|T7]|4]|4]4]12 0.083 0.583

F—LES c J—r IEfz | BR[| EH] k=R |F] #FXS |3 TR || A=V %|H]| KAR | BA%
9 ZMR B 1=T7H—ILX 2 13|15 1|1]3]|]5|0]2|[0]2[1]3[3]7[4]5]|4]13 0.385 0.538
10 =88 [ BRI AR5—X 3 [3]olo3]2]s]8[13]1[-2[-7]-8[3]1]1[5][3]5][4]12] 1083 0.417
11 EEE | BAEPYSTDa=7 4 Joflol 1135 3]ti[-1]-2]o]-8]2[3]3]8[4]3]4a[11] 1000 0.727
12 HER EELAVUR—H—ILX 1 13137 1[3]1]|5|0]2[7]9|[1]5[8]|14[4]2[4]10 0.500 1.400

F_LES D J—V IEG | Bm [E] xR [H] Bx2 [F B [f]A=oV R[] A | BA%
13 BHE | ARHIVSILR 1 [3]o[3]6]1]5]o]e6]o]-2]3]10[1o]3]3]16]4[4]5]13] 0462 1.231
14 EER mE ) —LX 2 313|]0|6]1[3|5[9]2[2]|-3[1]|]3[5]2[10]2]4]4]10 0.900 1.000
15 w588 | WE1—4ILZSBC 3 [ol3]o3]3]1[3][7]-2]2]=3]-3[1]3]of[4][3]5][5][13] 0538 0.308
16 BHE [ ERIUTILR 4 Jofol3]3]wof3]2]i5[-9]-2]3]-8]1[1[5]7[4]5]3[12] 1250 0.583

F—LEES E V-V NE L % = Hi 3 B CE-HE /e RIEEZEIRIETES BRE
17 KRR | v—FTR5— 1 [3]3[3]9]7]ol3]io]l1JTo]3]i3][8]o]6[23]3][3]3]9] iit1 2.556
18 EEE [ BRI ER 3 [3]3]olel1]ole[7]1[11[-83]9]2]11]3]16]4]3][3]10] 0700 1.600
19 =58 MIKUMOZ FY 7h7h—)L 4 O[1]|3|4]2[4]2|8|-1|0]|9|[8]1|4]11]16] 4] 4] 3]11 0.727 1.455
20 FRRE IR JELRFYIRR—ILYST 5 0[0|O|O)| 8| 5|11|24|-1|-1[-9[-11] 7| 4] 2|13 3| 4| 4|11 2.182 1.182
21 HER T IWRR—YDEFY TR 6 0O[0|]O]O|9|11]12|32|-9|-11[-9f-29/ 0| 0] 3|3|4]| 3] 3]|10 3.200 0.300
22 EER EEVLYIRR—ILYST 2 31113744311 1[0]9[10]5|4]12]{21]4] 4] 3]11 1.000 1.909
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